
30 Steering
Professional \ Floor cleaner \ Ride-on \ B 90 R \ B 90 R Classic Bp \ Steering

Valid on 05.08.2022 Page 1 / 3



30 Steering
Professional \ Floor cleaner \ Ride-on \ B 90 R \ B 90 R Classic Bp \ Steering

Valid on 05.08.2022 Page 2 / 3

POS Article no. Description Quantity Unit Remark Foot note text
42 Grease gleitmo WSP 5040 1 ZST

cart_info_txt: ﻿This material is not available due to hazardous good regulation. Please procure this or a similar material from a local supplier of your choice. Grease gleitmo WSP
5040

13 4.250-001.0 Flanged bearing complete 1 PC
1 5.009-542.0 Plate steering pillar 1 PC
9 5.352-090.0 Gear wheel 1 PC
18 6.368-215.0 Cap 1 PC
8 6.368-217.0 Cap 1 PC
14 6.401-260.0 Angular contact ball bearing 2 PC
15 6.401-263.0 Slip ring 2 PC
7 6.435-253.0 Steering wheel 1 PC
25 6.435-402.0 Tire Trike 1 PC
27 6.435-417.0 Tire Trike 1 PC OIL RESISTANT
40 6.435-446.0 Tire wheel drive motor 1 PC VERSION C
26 6.435-729.0 Tire wheel drive motor convex 1 PC RED
7 6.435-795.0 Steering wheel 1 PC
30 6.435-854.0 Tire wheel drive motor 1 PC
4 6.439-202.0 Steering pillar BR 65/90 1 PC
41 6.613-206.3 Wheel drive motor 600W 1 PC CCL VERSION B
19 6.613-315.0 Wheel drive motor 1 PC Amer VERSION A
39 6.613-547.3 Wheel drive motor 24V, 450W 1 PC Hengye VERSION C
8 6.640-353.0 Cap steering wheel KÄRCHER 1 PC
38 6.640-354.0 Handle 1 PC
33 6.651-777.0 Cable set for replacement 1 PC
5 7.304-415.0 Hexagonal head screw M10x25-8.8-A3E

ISO
8 PC

2 7.306-040.0 Cylinder head screw M8x16 -8.8-A2E
ISO4

2 PC

10 7.311-059.0 Hexagon nut M16x1,5 -8-A2E ISO10512 1 PC
17 7.311-122.0 Hexagon nut M24X1,5-22H-A2E DIN 936 1 PC
3 7.312-004.0 Washer 8 -200HV-A3E ISO 7089 2 PC
16 7.312-010.0 Washer 24 -200HV-A3E ISO 7090 1 PC
11 7.312-035.0 Serrated lock washer A17-1.4310 DIN

679
1 PC



30 Steering
Professional \ Floor cleaner \ Ride-on \ B 90 R \ B 90 R Classic Bp \ Steering

Valid on 05.08.2022 Page 3 / 3

POS Article no. Description Quantity Unit Remark Foot note text
6 7.313-005.0 Spring washer B10-FSt-A3E DIN 127 8 PC
12 7.318-084.0 Parallel key 5x5x12 -C45K DIN 6885-1 1 PC
32 7.343-211.0 Shim ring 22x30x1-ST2K50 DIN 988 2 PC

Powered by TCPDF (www.tcpdf.org)

http://www.tcpdf.org

